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h(r) = lcm(q1, · · · , q2n+1) Q r
H2n+1 Q

H2n+1(R)

dCC TeH2n+1(R)
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C = {(w1, w) ∈ C × Cn−1 : 2 Re w1 − |w|2 > 0}

ds2 =
4

(2 Re w1 − |w|2)2
(
(dw1 − dw · w)(dw1 − w · dw)+
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
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C − {∞}
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β |b| D(r)
Q (d

b , βb ) Pn(C)

δ Γ
δ0 Γ∞

G H n
C

PG(s) =
∑

g∈G

e−sd′(x0,gx0)



x0 H n
C s < σ

s > σ σ [0, +∞] x0

G x0 = (1
4 , 0)

Γ\H n
C

∂H n
C

δ = 2n
Γ∞ H2n−1(Z) Γ∞ ∩H2n−1(R)
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∑
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∑

(ζ,v)∈H2n−1(Z)

(
(1 + |ζ|2)2 + |v|2

)− s
2 .

∫

Cn−1

∫

R

dζ dv

(1 + |ζ|4 + |v|2) s
2

= 2v2n−3

∫

R+
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∫
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∞
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Re ab = 0, ad = 1, u =
a − d

b
.

a = |a|eiθ d = 1
|a|e

iθ u = |a|−|d|
be−iθ Re be−iθ = 0

γ′ PU(q) X ′ =




|a| be−iθ 0
0 |d| 0
0 0 I



 (0, 0)

(u, 0) γ′ γ

γ′γ−1 ( |u|2 , 0) γ, γ′

γ′ ∞ ( |d|
be−iθ , 0)

P
w = 0 2(γ′) = | log |a|2| γ

|a| ≥ 1 |a| = e
#(γ)
2

|u|
2

=
sinh *(γ)

2

|b| .

P ht(γ) =
1
2 log |u|

2



hM M = G\H n
C

hM = inf
g∈G : *(g)>0

max
h∈G

ht(Ahgh−1) .

KM M = G\H n
C

KM =
1
2

sup
g∈G : *(g)>0



 sinh *(g)
2

min
h∈G

|b(hgh−1)|




− 1

2

.

M = Γ\H n
C

µCyg(Eψ) = 0
∫ +∞
1 ψ(t)2n dt

t
M = Γ\H n

C
µCyg(Eψ) > 0

µCyg(cEψ) = 0
G = Γ

dCyg =
√

2d∞




2 i 0
−i 1 0
0 0 I



 Γ

1 2 1
Z[i] 2 log 3+

√
5

2

PU(q)
H n

C
Q PU(q)

n = 2 d
PU(q)(O−d)

Q(
√
−q) 1

d = 1, 2, 3, 7, 11, 19, 43, 67, 163

H n
H

H 2
O





Û(1, n; F )

Rn


